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S1 (a If $={0,1,2,3,4,5,6,7,8,9} and A={0,2,4,6,8}, B={1,3,5,7,9}, C={2,3,4,5}, and
D={1,6,7}, list the elements of the sets corresponding to the following events:

i) (C°’nD)uB
i) (SnCy
Gii) A’UB’
iv),. AnCnD’
(8 marks)

(b)  Consider the experiment of the throwing a pair of dice. Let £ be the event “sum is
less than 97, Similarly, let F be the event “sum is even”. Find

i F
(ii) E\F
(iii) ENF
( 6 marks)
S2 (@) Solve the following inequality
x-1
i 2
® 2-x
(5 marks)
(i) (x-4)(3x+2) <0
x-3
(5 marks)
(iii) (-DE+2)(x-3)>0
(4 marks)
S3 (a) If logs 36=2.2265 and logs 4=0.8164, evaluate logs 9
(2 marks)
. .. lOg 3
b Simplify —=2—
() Simplify 57
(3 marks)
()  Solve the equation 2(3*™) + 7(3)*~3 =0
(5 marks)
(d)  Find the value of x and express in b that satisfies the equation
logy 2x — logy, (x+2b)=1, where b is a positive integer
(4 marks)
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S4

SS

S6

Given three points A(-4, 0), B(4, 6) and C(-4,6), find

(@

(b

(©

(d)

(®)

(@)

(b)

©

(®)

the distance between points 4 and B.

(2 marks)
the equation of a line that passes through points 4 and B,

(3 marks)
point D, given that D is the midpoint of 4B.

(3 marks)
determine whether 4B is perpendicular to CD.

(3 marks)
the equation of a line that passes through points D and C.

(3 marks)
Verify the identity (sec @+ tan #)(1—sinf) =cos6 .

(3 marks)

. . V4 g _- x

Find the exact value of sz + cos-3— —tan 3 without using a calculator.

( 3 marks)
Solve the equation 2 sin“t—cost —1=0for 0°<t<360.

( 8 marks)
Given that two vectors, v =-2i + j + 4k and w =i + 2j -3k. Find
() v+2w
(ii) [3v — w|
@) |l

(6 marks)
Ifa=2i-2j+3k, b=5i+8j+k and ¢ =—4i+3j -2k, find
(i) ae(bto
(i)  the angle between vectors a and b.

( 6 marks)

3 CONFIDENTIAL



CONFIDENTIAL BBR 23603

(c) Find p x ¢ for vectors p=3i+4; and g=j+5]-2k.
(3 marks)

S7 (a) Solve the quadratic equation 3x* + 9x + 7 = 0, and write in the form of a+bi.

(4 marks)
(b) Ifz =-2+3iandz,=1-4i,find
@) z,+2z,
(ii) %2
iy 2L
Zy
(7 marks)
(c) GiventhatZ;=2+iand Zy=-2+4i.If € :—}—-+—1—, find Z; in the form of
3 1 2
a+bi.
(4 marks)

-END OF QUESTIONS-
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